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1| 10:30 | HOLRTOI=F Lo OT/MER) 1,700 11,900 | 3 =t7n | BoxihE
1K 13:30 | HORTOI=ZFrLUST/MR) 1,700 |[1,900 | 3 =t7n | BoXimE
2 | 7K 10:30 | o AS=FrLUIT/M 1,700 | 1,900 3 | Emzsy7 |BoxihE
2 | 7K1 13:30 AR EI=FHLUST/M 1,700 11,900 | 3 | HiRR4v7 |BoXimE
3 | K| 10:30 HOHTAS=FrL U IT/ME) 1,700 | 1,900 3 =t7n | BOXiiE
3 | K| 13:30 | HPHETOI=FLLUST/MOB) 1,700 (1,900 | 3 | =t7o |Boxi#
4 | & 1330 ¥yF—I=F¥L2TT/M 1,700 11,900 | 3 | &E#R4v7 |Boxim:E
5| 11030 |EMELETILRT/M 1,700 [ 1,900 |2+1+1 L
5| X |13:30 AN PTOFYLUS EDOH 3,500 3,800 4 |wA»vIo HEH
5| 1 |18:00 FEEMCTOF LS EQOH 3,500 3,800 | 4 |wmxsvrn B
6  H|10:30 Gil'sRAYIZI=F¥LIT/M 1,700 1,900 3 | Gil'sx&vT | BOXimE
6 | H| 13:30 BRGREFE"47—LT/M 1,900 2,100 4 BOXi:Z
6 | B |18:30 |[¥TLRT/M 2,800 (3,000 | 3+2 FEETOL |
7 | B|10:30 |HiBRREI=ZFALUST/M 1700 (1,900 | 3 | H#B=%v7 BOXi®
7 B 1330 | ?yx—==FvLUIT/M 1,700 | 1,900 3 | BE#HZR4YT |BOXHE
7 A 1930 | ROBEERRYII=ZFvLUIT/M 1,700 1,900 3 | @E#R4YT [BOXHEER
8 | N 13:30 FEAAVARRSHA—Z=F XL IT/M 1,700 1,900 3 | EARZYT |BOXiiE
9 | /K| 10:30 | &obRAS=FYLUIT/M 1,700 | 1,900 3 | EmzsyT |BoxiE
9 | /K| 13:30 WEITOSI=FrL2IT/M 1,700 1,900 3 WEIO | BOXHE
10| K| 10:30 | HPHETOI=FrLUOT/MER) 1,700 [1,900 | 3 =t7o  |BoximE
10| K| 13:30 HOHETOI=FrLUOT/MBR) 1,700 1,900 | 3 =t7n | BoXihE
115 13:30 |[vyF—S=FvrLUIT/M 1,700 | 1,900 3 | @EBxsy7 [BoxiR
12 £ ]10:30 GHKLATILRT/M 1,700 | 1,900 |2+1+1 L-UihiR
12| 1| 18:30 MEEZEATAFVYLUD 2,800 |3,000 4 WESO | BOXHE
13 H|10:30 V=7 RUS—FHBAZEFLEITFLS 1,700 | 1,900 3 | 1B HHE#k | BOXHhE
13| B | 13:30 AmRRIOEHEEIOF LY EOH 3000 3,300 | 4 (EEE2IN B
13| B | 18:00 ARRRIOEHBEETOF LS $OH (3,000 3,300 | 4 (2ERBIE By
14| B 10:30 FiRITEI=FHLUDT/M 1,700 11,900 3 | ARRAYT |BOXim:E
14| B 19:30 fBETOI=F¥rLoTT/M 1,700 11,900 | 3 WEIO | BOXEE
15| K| 10:30 | &oBRAS=ZFYLUIT/M 1,700 11,900 3 | E#HRAYT |BOXiHE
15| X | 18:00 =ZLEHRTOFYLID 2,800 3,000 | 4 =t7n |BoxdmE
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16 | 7K | 10:30 JEAA LV ANSHE—Z=F v LU PT/M 1,700 1,900 3 | BARZYT |BOXm:E
16 | /K | 13:30 FBEITOI=FrLoIT/M 1,700 1,900 3 WMEIO | BOXHE
17 K| 10:30 | HPETAS=Fr L2 OT/MER) 1,700 1,900 | 3 =t7n | BoxihE
17 K| 13:30 |HPHETAI=FrLUST/MB) 1,700 {1,900 | 3 =t70 | BOXHiE
18| & | 13:30 | ¥YF—I=F¥L2PT/M 1,700 |1,900 | 3 | @E#R4v7 |Boxim:®
19| £ 10:30 G ELETILRT/M 1,700 | 1,900 |2+1+1 L
19| £ | 13:30 JNIKHETOF LY EOH 3,500 3,800 | 4 |mwmmE o HEH
19| £ | 18:00 JNIHETOF LY HQRB 3,500 3,800 4 |nwmEIo HEH
20| H | 10:30 |SREEIZEDIF /AU RYBGT/M 1,700 1,900 | 3 BOX 3%
20| B | 12:30 [$BEE[ZREAVD RS RS 1,200 1,200 | 2 BEH
20| B | 19:00 [NBFERES(GL-UBE)XHETHS T 2,000 (2,200 3 WEIO | BOXHE
21| B 1 10:30 FIR<T<EI=FrLOT/M 1,700 1,900 3 HIBR2Y7 | BOXiE
21| B | 13:30 |fBETOI=FrLoPT/M 1,700 | 1,900 3 WESO | BOXH:E
21| A 19:30 |FHRAYIZ=FrL o IT/M 1,700 11,900 3 | BERAYT |BOXi®
22 | K| 10:30 |&oBRAS=FrLUOT/M 1,700 11,900 3 | F#HRAYT |BoXiE
22 | M| 13:30 |[RyF—I=FrLUST/M 1,700 (1900 | 3 | ®mE#=x4v7 soxim®
23| 7K | 10:30 [BAAVARSVA—Z=ZF¥ L2 PT/M 1,700 (1,900 3 | BARAZYT |BOX#E
23| 7K | 13:30 | RBETAS=F¥LUIT/M 1,700 1,900 3 WMEIO | BOXHE
24| K| 10:30 | HPETASI=F YL OT/MER) 1,700 1,900 | 3 =t70  |Boxim®
24| K| 13:30 |HOLGTOS=F LU OT/MR) 1,700 | 1,900 3 =t7n | BOXiH:E
25| & | 13:30 |TyF—I=FyLTT/M 1,700 /11,900 | 3 |@wE&ERZY7 |BoximE
26 | = | 10:30 | M EKLETILAT/M 1,700 1,900 |2+1+1 L
26 | £ | 13:30 [BHERTOFYLUY EOH 3,500 (3,800 4 |gEwE=70 BH
26| T | 18:00 | FBHERTAFYLUY HEOH 3,500 3,800 4 |gEE=70 BH
27 B 10:30 |/\—RF—T/M 1,700 | 1,900 3 BOX#;Z
27 B | 13:30 SE8EVAYAYT EAE—EFLEZFLST™M 2500 2,700 | 4 2ot | HH
27| H|18:.00 |vyF—F¥LP 2,800 3,000 4 | wEHRAYT |BOXHE
28| A 10:30 | FEIYEI=FHLUPT/M 1,700 11,900 3 | ARRAvYT |BOXiH:E
28 B | 13:30 EIOI=FrLIT/M 1,700 1,900 | 3 WEIO | BOXHE
28| A | 19:30 EITOI=FrL2IT/M 1,700 11,900 3 WEIO | BOXHE
29 | N | 10:30 | HPETASI=FrL 2 OT/MER) 1,700 11,900 | 3 =t7n | BoxiHE
29 | X | 13:30 | HPHETOZ=FrLUOT/MR) 1,700 | 1,900 3 =t70 | BOXiiE
30 7K | 10:30 EAAUARSHB—SZF¥LUPT/M 1,700 11,900 | 3 |BARZYT |BOXH:E
30 7K | 13:30 | &obwAI=FYLUIT/M 1,700 11,900 | 3 | F#zr4v7 |BoXi:E
31 K| 10:30 | HPHETOASI=FrL o OT/MER) 1,700 11,900 | 3 =t7n | BoxiHE
31 K| 13:30 | HeHETOZ=FrLUOT/MR) 1,700 | 1,900 3 =t70 | BOXiiE




